DO NOW

Are arcsin x (or sin"'x) and csc x the

same thing?
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The Number 'e'

- natwral or convenient choie For a
base of an eyponential

~ base for natural logarithm
— Irrational. constant
e Q. 71828182Y¢,. ...

* ofen Wsed (0 reak Wodd caladations
and in Calculus
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1.6 Exponential and L ogarithmic Function:

Properties of Exponents: a and b are positive real
numbers and x and y are any real number.
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Exponential Function - 1Avalues a cons tant

raised € a power, FEx: fo)=2"

In General — —P(x)z o where a> .
¥ Variables as exponents

domain: (—-go, oO)

range: (O, w)

y - intercept: (o) l)

* One-to-one

* To sketch graphs - US€ CD.ICM.LGJ-Or and
Yable of values
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The Natural Logarithm Function:
ket v be a positive veok number

I\
/Dso.r'rH'\mic form ﬂwonm‘hd G”M
domain: CD, =)
range: (~eo‘ °°)
x-intercept: (l‘o)
** One-to—one
*k -F(\():‘ex o,v'\d« (X\)zlh *  0re
inverses of each gther
oo Ine*=x and e™=x
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pg54:16  Solve forx: e¥=
X=0

Write the exponential equation as a logarithmic equation or

vice versa.
42, e?=1353.. 44. In.5= -6931...
-2 in.6_- _~0693I
Ine™=n .I1353... ent=e
~2=In .1353.. .. 5= 63l
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HOMEWORK
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pg 54 -55;1- 15 odd, 35 - 38, 41, 43



